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X — 5 — CAT CAT
# 3t 25983 259D
B &5 =l = ke 4,140 4,200
N 7 v B OB m 0.44 0.44
= £ 7 = ke 885 795
E TR E@ % & B km/h =1361%95 = 1371895
1% 1 F  kPa 423 429
- 5 0% 3.430 3.570
o & S mg 1,680 1,680
N 7 vk g 1,895 1,895
S 2sErTtmz O % 2110 2115
G| B B B & mg 220 225
SEEEE UV v A ng 2.240 2,360
g Y E Y S Y - F mg 740 755
BYEYHHLY PSR mg 2,240 2,260
T B R Cat C3.4DIT ¥4 =¥ IVYY | Cat C33BDIT F4 —FLIVIY
A= 1 & 5 KW(PS) 53 (72.1) 55.1 (74.9)
s 0O — 5 % = SN—AkESys SN—AkESYs
®m o a2 Y o (8 W) 0 84 105




